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64 |Thoz>TEVHIR 2.1E+1 6.7E+0 2.1E+1 1.9E+1 67.0
17 |F7a+V— 2.6E+0 2.6
139 [FZBEARYY 3.3E+0 1.7E+0 50
140 |7z 7ANM)Y 25E+0 25
153 | TS AR 1.9E+2 8.3E+0 2.0E+2 8.6E-2 401.2
181 |[CyoaRyEy 4.2E+2 1.9E+2 606.6
225 |kBJLRY 6.6E+0 6.6
251 |Z7z=rOF+> 1.3E+2 3.0E+0 133.0
252 |7z FFY 4.7E+0 5.2E+1 4.7E+0 615
256 |THUE 2.1E+0 2.1
350 |RJLARYYL 4.2E+1 3.8E+1 2.8E+1 4.8E+1 156.4
405 |[Z5FRI1LEM 1.0E-1 4.8E+1 1.7E+0 50.2
427 |hLsRy)L 1.6E+2 159.4
428 |Zz/THNLTD 1.6E+1 1.2E+2 139.9
457 |290JLRR 8.2E+1 5.9E+2 667.5
= Hi 7.6E+2 1.0E+3 4.9E+2 2.2E+2 2482.7
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